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3.Kleiner Leistungsnachweis

Note
Punkte: /24
@ Berechne! /6
3) (9+(0)-()= d) (N+(-7)-(@)=
b) (5)+(5)-(2)= e) (-99+(0)-(-9=10

f) (:3)+(9)-(2)=
Q) (9)+(6)-(2)=

@ Berechne! e
a) (-6):(3)=[ i
d) (7) x (-3)=
b) (-1):(2)=[] ) (7)x(-3)

Q) (-6)x(2)= e) (4):(-2)=[]

f) (7)x(1)=

(® Berechne! /12
a) (+35) : (=7) — (=2)
—3)

b) (+12)-(—3) 4+ (—4) =

o 7-(5—8)

d) (—13 —14) - (—8 — 25) =
e) (+44) — (-33): (—11) =
A R.I_RY _ (2 —
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pViel Erfolg!/p

1

2

5

6

24 - 22
21,5-18,5
18,0-14,0
13,5-9,0

8,5-6,0

55-0,0
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